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| TETAT 4 | EXEM |
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EX
) = & E
EFLAFEEN 11,685 A 13,469 A 25, 154 A
BREER 8,531 A 10, 369 A 18,900 A
AR LEREES 5713 A 6,402 A 12,115 A
HRRTIREE R 2,651 A 3,713 N 6, 424 X
TEERESER 167 A 194 A 361 A
ZHEER 3,154 N 3,100 A 6, 254 X
BRER 73.01 % 76.98 % 75. 14 %
=45
=8 = & E
EFLAFEEN 14 A 11 A 25 A
BREER 0 A 0 A 0 A
AR LEREE 0 A 0 A 0 A
HRATIRESEHK 0 A 0 A 0 A
TEEREEN 0 A 0 A 0 A
ENDEHREEN 0 A 0 A 0 A
BEFREEN 0 A 0 A 0 A
ZHEER 14 A 11 A 25 A
BRER 0.00 % 0.00 % 0.00 %
B+ ES5
8 = & E
EFLAFEEN 11,699 A 13,480 A 25,179 A
BREER 8,531 A 10, 369 A 18,900 A
ZHEER 3,168 A 3,111 A 6,279 A
BER 72.92 % 76.92 % 75.06 %




